Class

7] Review for Mastery

Least Common Multiple .
The smallest number that is a muliiple of two or more numbers s
called the least cornmon- muitiple (LCIM).

To find the least common multiple of 3, 6, and 8, list the multiples for
each number and' put a circle around the LCM in the three lists.

Multiples of 3:3, 6,9, 12, 15, 18, 21, 24).
Multiples of 6: 6, 12, 18, 54,30, 36, 42
Multiples of 8; 8, 16,24, 52, 40, 48, 56
S0 24 s the LCM of 13,6, and 8.

List the mu ‘Eaples of ea@h number to help y@u, ﬁmd the Eeas@
common muﬂﬁup e of @a@h group.

1. 3and4 2.5 and 7

Muliples of : ___ Multiples of 5: -

~8.8andi2

Muliiples of 8: .._____

Multiples of 4: ___. " hutiples of 7: ____ Multiples of 12:
LCM: | Lo LOM:

4.2and9 5. 4"an'd 6 6. 4 and 10
Multiples of 2 Muliiples of 4: _____ Multiples of 4:
Multiples of 9: % .Multip!es c;f 6:_ Multipléé of 10: ._,%__
LCM} | LCM: Lem:

7.2, 5, and 6 - s s, 4, and 9 ?9. 8;-10, and 12
Multiples of 2 o Multiples of. 3: _ Miltiples of 8: _____
Mu‘ltiples- of5: Multiples df 4: _ lMultipIe‘s of 10: .
Muliiples of 6: ___ i\/iulﬁpl_es of ‘9: __h -.Mulfi:iples of12:
LCM: _ | LCM: . LOM:
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Name _' . o _ Date._ Class__
_ Homework and Practiice. - L BN
| - BN Least Common Multiple T | C
Find the _ﬂea’s’& common multiple (LCM),- S . B S N ‘t
! 1.3 and b = C 2.2and 9 3.5and 6 |
\ 47and3 . 66end7 6.2and 8
\ 7.12 and‘lsl. - | 8.6 and 15 o | 9..6-5.710!'9 I I
. . o ) ‘ o ‘ Li
]
10.3,4,and6 ° i1.2,5ad7  12.6,8and 12 |
. %.2,4and 11 14.4,9,and 12 15.2,3,and 7 |
] ‘ _ .
i
. 1 ' : |‘
16. Coach Wilson is ordering shiris and shorts for his track teaim. o _ ‘ :
Thare are 30 members on his track team. Shorts come in packs
of 3, and shirts come in packs of 6. What is the least number of - ] o
packs of each he should order so that each member will have o |
1 pair of shorts and 1 shirt, and none will be left over? 5
17. Sally is selling breakiast ‘b:ag_s. Shé needs o sell 24 bags ioday. - .
Muifing come 3 1o a pack, bagels come in packs of 4, and fruit B ' :
5 hars come in packs of 6. How many packs of each item will she ?ﬂ
need to buy to. make the 24 bags with no leftovers?. ' { -
18. A restaurant needs to make 60 !un‘ches‘, Cé;rﬁi:ons of juibe come
in packs of 4, bags of chips come in packs of 6, and toys comé '

in packs of 15. Mow many of each pack will the restaurant need
to buy with no leflovers? ~ . o
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